Quiz 7 MTH 335

Wednesday, November 13, 2024 2:52 PM

Suluve. 4y J(a\d:&thnS)v‘)lo)z [, y'(0)=
%T‘dﬁ& R of both aeg  (uoimg teble!) 1 get

_ 5 -
(PYo-a)-0)ra(af)-1) r2m= e

~T S
(/_Lz)r;u_ﬂr?_)\{zg) - e +At2L
Conplthiny Fhe Cqpet
dm% vo't V\T(.a(j ’

1
Lorcdary o conpleie X_f_D(XEOlZ y
e - rapr (2] (2)
2 2 _ )
AZraprat (B)-(5) = (e 2V 1 (p-(2F)
= (ar) +(2-1) \—/IK
L —
= + 1
- (x+ %)1: x +L{%)x +%L
..l.-
T, $ro (P’%)
Mot ove fy e othre % S .
T fre - P A
Y= & — v+ —— 7 (e
(L+1) +\ TR EA
~TCS [
= +
< S + A + __L1__/
(A+) + | (Ls1y + (rr) "+ \

HOV\/ ) 'w\vn:)r'?

-1
R@-}- Nk e (’K—\{ ‘41}4_\ ‘;: A,(MU;\ omd ( {/.Li'}l % CO’J({Z

By 17 fandlbion e L{F(-a)}= ¢ bRy we heve
f\ {CA-}\)J‘I% i— {(Af(—ﬂ) 4’\% M(—b

5

cnd f-\{&i:iu %‘—aﬁ—‘{“ b %, ()

(L= (-0) +!
B\j 2‘“’{ Y onclaton  thm (;C {e‘qg F[s)g £(4-a) Ult- _a) we have
_ 57§
d~’; l{[ e - %: e—(t'n'\m(t—-rr) %{ 't,, ,L)
44D +1

(L+1) 31\

- 7T - l
"es E*cﬁl A+1} Ji (A,H)Jr[‘%

-t
It)
S Ry P LA o



